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sqrt(PriKine_He3.W2) |

The fitting of elastic peak
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another 2-order-polynomial
background only after peak
center.

« Motivation is to check the
stability of the production cell
yield, which require a good
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fitting to describe the shape
to evaluate cuts.



Stability check
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stability check of prod. cell yields

Production cell yields after elastic cut x* I ndf 12 /12

p0 246.6 + 0.3027

Ezsz‘—
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. Thelast 3 runs are 2461 ‘H I
different on both sE. {‘ % ’}
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(not sure why) mi_
« The error bars are 238
enlarged by 1.66 to 236 %’H
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Stability check on Ref. He3 yield

case, du

gas in the cell.

Only the run with
highest pressure
seems different
from other runs.

sqrt(PriKine_He3.W2) {L.tr.n==1&8abs(ReactPt_L.z)<0.15}

h1

absence of the N2
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Stability check on Ref. He3 yield

single cut

%200
> 180
160
140
120
100
80
60
40
20

0 | 1

¥* | ndf
p0
p1

88.69/4
1.325 + 0.09552
1.302 = 0.005071

40

60 80 100

he elastic cut (averaged one)
sgrt(PrikKine_He3.W2) in [2.80962, 2.81296]

120

140 160
pressure (psi)




Fit Quality of Reference cell
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peak center of Ref. cell He3 run Entries 116563
= Mean 2.817
S 281145 1200 — RMS 0.006514
e B = B % | ndf 248.1 /144
e B = po 0.0003197 + 0.0000112
S 28114 2767 1000 — p1 2.811+ 0.000
= - - p2 2,63+ 0.03
i 2 N = p3 0.0004675 + 0.0000139
S N 800 pd  -7.058e+04 + 2.659e+05
g < B e = p5 1.395e+04 + 2.003e+03
- 1 - p6 -3152+ 417.8
C 1 6001 p7 1125 + 148.9
28113 — =
I L 400 —
— [ | -
2.81125— L
B 200—
I ] :
__I | 1 L L L | L L L | L L L | L L L | L [~
28112 =562 2765 2766 2767 2768 g o T
| sqrt(PriKine_He3.W2) |
= Entries 125266
| peak width of Ref. cell He3 run | - Mean 2817
s B RMS 0.00642
I — 2
¢ 0.0034 * 1200 — " 1 ndf 252.8 /146
= r po 0.0003178 + 0.0000108
£ I -
S 0.00338— - p1 2.811+ 0.000
3 C 1000 — p2 2.814 + 0.030
% 0.00336— * B p3 0.0004609 + 0.0000137
L] I
8 Eox e 2768 p4 -2.508e+05 + 2.827e+05
0.00334 — B p5 1.594e+04 & 2.132e+03
C & B pé -3665 + 388.9
0.00332 - 6001 p7 1309 + 138.6
0.0033 -
0.00328 — 400 —
0.00326 -
0.00324 I I T T N N R TR TR N NN N NN TR NN N N N :
2764 2765 2766 2767 2768 L L T N‘-ﬂ—l PR ST R S A ST T

run number 98 2805 2.81 2815 282 2825 2.83



Stability check on Ref. He3 yield
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Elastic peak of Ref. Nitrogen run
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e From now on |

choose the Nitrogen
elastic cut as

sqrt(PriKine_N.W2)<13.05&&sqrt(PriKine_N.W2)>13.0385)



Elastic peak of Ref. Nitrogen run
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T

he yeild of Nitrogen cut on Ref. He3 runs

Contamination
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psi of N2 and 119 psi of
3He. (possible of 0.2
change in yield)

o Less than 5% bias due to
the 3He contamination.
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Contamination

The yeilds of He3 cut on Ref. N runs «" I ndf 38.93/4
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. 1.62psiof N2->Y= g

2.56

o 120 psiof 3He -> Y =
157.6

o About 1.6%
contamination of N2 In
3He production cell.
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